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(1) What is the nerve supply of platysma muscle?
a. Facial nerve

b. C1 via hypoglossal nerve

c. Accessory nerve

d. Mylohyoid nerve

(2) The gap between the vocal folds is called:
a. Piriform fossa

b. Vocal cord

c. Cricoarytenoid

d. Rima glottidis

(3) The eye opened by action of which nerve?
a.Trochlear

b.Abducent

c.Facial

d.Occulomotor

(4) What is the action of both sternocleidomastoid muscles (right and
left) working together?

a. Extend the neck posteriorly

b. Flex the neck anteriorly

c. Rotate the neck to one side

d. Flex the neck laterally



(5) Sensory innervation of the larynx below the vocal cords is through:
a. Superior thyroid nerve

b.Internal laryngeal nerve

c.Recurrent laryngeal nerve

d. External laryngeal nerve

(6) What is the motor nerve supply of lateral rectus muscle ?
a. Facial

b. Abducent

c. Trochlear

d. Occulomotor

(7) Parieto-occipital fissure is present between one of these two lobes of the cerebellum
a. Occipital and frontal

b. Occipital and parietal

¢ Parietal and frontal

d. Occipital and temporal

(8) Which one of the following is not part of the internal capsule?
a. Rostrum

b. Anterior limb

c. Posterior limb

d. Genu

e. Sublentiform



(9) Ansa cervicalis lies in front of the origins of:
a. Digastric and scalenes anterior

b. Levator scapulae and scalenes medius

c. Cleidomastoid and sternohyoid

d. Omohyoid and sernothyroid

(10) Which of the following structures is related to the posterior wall of
tympanic cavity?

a. Stapedius muscle

b. Auditory tube

c. Geniculate ganglion of facial nerve

d. Internal carotid artery

(11) One of the following fibers is not projecting to the cerebral cortex:
a. Sensory radiation

b. Pyramidal tract

c. Visual radiation

d. Auditory radiation

e. Thalamic radiation

(12) The nasociliary nerve ends by giving which of the following
branches? (YOU CAN CHOOSE MORE THAN ONE ANSWER)

a. Supratrochlear

b. Anterior ethmoidal

c. Posterior ethmoidal

d. Infratrochlear



(13) Which of the following muscles is supplied by C1 fibers within the

hypoglossal nerve?

a. Geniohyoig
b. Omohyoid
c. Sternohyoid

d. Sternothyroid

(14) The superior margin of the quadrangular membrane in the larynx forms
a. Cricotracheal ligament

b. Cricothyroid ligament

c. Vestibular fold

d. Aryepiglottic fold

(15) All the following nerves provide sensory nerve supply to auricle of the ear EXCEPT:
a. Zygomaticotemporal

b. Lesser occipital

C. Auriculotemporal

d. Great auricular

(16) Which joint is responsible for nodding motion (saying yes)?
a. Intervertebral

b. Lateral atlanto-axial

¢. Median atlanto-axial

d. Atlanto-occipital



(17) One of the following statements is correct about the corpus callosum:
a. Its lesion does not affecting the brain function

b. It is the largest association fibers of the brain

c. It lies below the cingulate gyrus

d. Forceps major projects from the genu

e. Forceps minor projects from the splenium

(18) What is the medial boundary of each choana?
a. Vomer bone

b. Palatine bone

c. Medial pterygoid plate

d. Sphenoid bone

(19) The cerebrospinal fluid is found within:

a. Extradural space
b. Subdural space
C. Epidural space

d. Subarachnoid space

(20) Pain and temperature sensations are transmitted to the brain through which of the following
tracts?

a. Dorsal column

b lateral spinothalamic

c. Ventral spinothalamic



d. Pyramidal

e. Extra- pyramidal

(21) One of the following arteries is not sharing in the formation of the
circle of willis:

a. Internal carotid

b. Posterior communicating

c. Anterior cerebral

d. Middle cerebral

e. Anterior communicating

(22) The nasociliary nerve ends by giving which of the following branches? (YOU CAN CHOOSE
MORE THAN ONE ANSWER)

a. Supratrochlear

b. Posterior ethmoidal

c. Anterior ethmoidal

d. Infratrochlear

(23) The palatine tonsils are found in:
a. The nasopharynx

b. The oral cavity

c. The nasal cavity

d. The oropharynx

(24) Which one of the following signs is present in Upper motor neuron
lesion?

a. Babinski sign



b. Hypotonia
c. Areflexia
d. Muscle wasting

e. Reaction of degeneration

(25) The lower end of the spinal cord is called.
a. Denticulate ligament

b. Filum terminale

c. Conus medullaris

d. Cauda equine

e. Lumbar enlargement

(26) What is the motor nerve supply for tensor tympani muscle?

A- Mandibular nerve
B-Vestibulocochlear nerve
C-Facial nerve

D- glossopharyngeal nerve

(27) Concerning the pyramidal tract, which of the following statements is incorrect?
a. Passes in the pyramid of the medulla

b. 10% of fibers are crossed as lateral corticospinal

c. Concerned with voluntary skilled motor activity, primarily of the limbs

d. It controls the movement on the other side of the body

e. It originated from motor area of cerebral cortex

(28) Which of the following bones can be found in the nasal septum?



A- nasal bone

B- vomer

C- maxilla

D- sphenoid

(29) Which of the following angles of the fourth ventricle is connected with the cerebral aqueduct
of the midbrain?

a. Central

b. left lateral

c. right lateral

d. inferior

e. superior

(30) The gap between the vocal folds is called:
a. Piriform fossa

b. Cricoarytenoid

c. Vocal cord

d. Rima glottidis

(31) One of the following is considered white matter of the cerebrum

a. Internal capsule
b. Lentiform nucleus
c. Cerebral cortex

d. Amygdala

e. Caudate nucleus



(32) Which one of the following is not part of the internal capsule?
a. Posterior limb

b. Rostrum

c.Genu

d. Sublentiform

e. Anterior limb

(33) All the following nerves provide sensory nerve to auricle of the ear except:

a. Zygomaticotemporal
b. Lesser occipital
c.Auriculotemporal

d. Great auricular

The answers:
1)a
2)d
3)d
4)b
5)c
6)b
7)d
8)a
9)b
10)a
11)b

12)b, c, d



13)a
14)c
15)a
16)d
17)
18)a
19)d
20)b
21)d
22)b, c, d
23)d
24)a
25)d
26)a
27)
28)a
29)a
30)d
31)a
32)b

33)a



